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Instructions : (1) All question are compulsory.
(2) Figures to the right indicate Jull marks.
(3) Draw neat diagram wherever necessary.
(4) Use of any tvpe of caleulator is not allowed.
{5) Commenis are must in assembly language program.

(A) Select

() RST 55
(i) RST 6.5
(ii) RST 7.5
(tv) TRAP ‘
(b) The length of instruction MVI reg. data is . :
(i) | Byte
(i) 2 byte
(i1i) 3 byte
(iv) 4 byte
(c) The 8051 Micro-controller pan address program memory. 1
(i) 8k byte
(i) 16k byte
(iii) 32k byte
(iv) 64k bywe
(d  Cable is insensitive of EML
(i) Co-axial
(i) STP
(i) UTP
(iv) Fiber Optic
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(B) Answer any two of the following :
(a) Write a note on evolution of Micro-processor. 3

(b) Explain any three addressing modes of 8085 Micro—processor with
one example. 3

(c) What is HUB ? Explain Active and Passive HUB. 3
Zy XA) Answcr any two of the following : ’
(a) What is multiplexed BUS in 8085 ? Give its advantages. 3
(b) Explain following instruction of 8085 Micro-processor. 3
(i) CMA
(ii) RRC
W (D). sTC
(¢) Define Topology. Explain Physical and Logical Topology. 3
(B) Answer any one of the following : ; o
(a) Define following registers of Micro-processor 808S. e
(i)  Accumulator
(i)  STATK Painter
R g (i)~ Program Counter™ """ - wnsig Gt e - —e———
(iv) Instruction Register '
(b) Explain following terms related to pentium processor : 4
(i) Dual Pipeline
uF e, (i) Branch Prediction
~ (ili) On chip cache
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| ~ (iv) 64 bit data BUS | ST
hDn (A) mmm of the following : ‘ ‘e
(a) Bxpkinvmy three features of 8085 Micro-processor. ?&;:*




(1)

(n)

(h)
(¢)

Aniswer uny two ol the following
()  Flag register contwin dats C5H interpret its

(h)  The secumulstar comtain duts 581 und
Whint will be the content of Accumulate
instruction independently

(hy ADD I

(i) ORA B

(1) ANA K
(0)  Explon Conxinl Cable in detail, 3
Answer any one of the following
()  What is Interrupt 7 List Hardware Interrupts according to Priority.

..‘l
meaning. » 3
register B contain data 074,
 after exeeution of following

Explain maskable and non maskable in interrupts 4
(b)  Explain the following characteristic of Transmission media : 4

(1) Installation Deficultes

(i) EMI

(1) Bank Width

(Iv) Attenuation - s

A block of data is stored from memory location D001H. Length of block

' 02H in
is stored at DOOOH, Write a program to find occurrences of data
given block, Store the aumber of occurrences at Memory Location DI00H.  §

" A block of datu is stored from memory location DOOTH to DOOSH. Copy

from 2501H. 5
the contents of block to another block starting i
1L another
to subtract 3 Byte integer in ngimnﬂl. from r |
;V g;.kc'mzm BCD, The result should be placed in BCD register keeping by
the integers in EHL undistrubed. -




